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Which of the following are Flowering plants?

A. Bryophytes B. Pteridophytes

C. Gymnosperms D. Angiosperms

Choose the correct answer:

(2) B &C only
(3) C&D only ‘ (4) B &D only
S00 aBO? 203 Anten 59
A. 203 Re, - B. (3065365,
C. QK8 Qepey D. @65 Dezeen)
R85 230E0R DOHEI0E: _
(A, B&CSRgab | '  (2)B&C &egad
(3) C & D Sreghad - : (4) B & D So¢8ad

Temporary hardness in water is mainly due to the presence of:
(1) Sulphates of Magnesium and calcium

(2) Nitrates of calcium and magnesium

(3) Bicarbonates of calcium and magnesium

(4) Chlorides of magnesium and calcium

Q3 o, dE 520:5,0 Hgeriom AR &S sedaome SK06:
(1) SfaroHo sHBah sedaHoe H&kn

(2) so@aho &HBam Ff20000 Feew

@ sed)ofo Bafn df0hoe B5e693en

(4) 2000 HBaH sedahHoe 595

Only transgenic Bt crop that has approval for commercial cultivation in India is:

(1) Cotton -(2) Brinjal

(3) Chilli _(4) Sesame

a7 BEBRE0° aToedess ApHE) BP0 F0N 2.8 ariEiRE)G Bt Hok:
(1) 28 (2) Soseah

(3) Hze0D (4) Rooh)n
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Why is mercury used as thermometric substance in thermometers?
A.lt ig a good thermal conductor.

B. Its thermal expansion is uniform.

C.. Itis opaque and shining.

D. It easily sticks to the walls of the glass tube.

Select the correct answer:

(1) A &B only (2) C&Donly

(3) A, B &Conly (4)A,B,C&D
DR, GHERHTON GHARDE S0 Q0D GHARNDD?
A 08 2.8 &8 &3 e,

B. 3R &1 8855 QB Hoenod.

C. 98 ©aRISYE Hredsin hdoky dthpod.

D. ©& ey MRRin MEe®H Mwgform v&HE,08m0l. A

ROEHN BaeeNRD JoHE0E: - e
1) A &B Smeah (2) C & D &7egdad
(3) A, B & C 858850 (4)A,B,C&D

It is a general practice in some western countries to use electrolytes to ease the melting of

ice from sidewalks, streets, highways etc. Which of the following electrolyte is most efficient
in melting ice faster? _
(1) NaCl (2) CaCl, (3) HCI (4)C_H,0

122 N

50R), Yo 284 350058, Sed 23 den, e, 2@k G methen dueserth 99 LHHsNS
Hoeh g S0AoHLG? oFiBEneh metsmth. & 00 J0FFwest ad DY
SYS0BRE?

(1)1Na{:| (2) CaCl, (3) HCI

1222

(4) C,H,,0,

What is the normal range of body mass index (BMI) for adults?

(1)155 - 19.9 (2)185 - 24.9
(3)18.5 - 29.9 (4) 2255 - 26.4
D50 end 1R BOEE, (BMI) G1ok, Aogetis HOE A
(1155 - 199 (2)185 - 24.9
(3)185 - 299 (4) 2255 - 26.4




Which of the following are emerging infectious diseases?
A.SARS

C. Kala-azar

B. Japanese encephalitis
D. Nipah virus disease
Select the correct answer:
MA&C only

(2) A,B&D only
(3)B,C&Donly (4)C&Donly
§06 a3 H3) QAheDHELEH, @oen arhen?
A. B, /SARS _ B. 225N R PRIGR
C. seep-web D. e J6R BB
RGN 250 D0HE0a:
() A & C Sgah .(2) A, B &D SRgadD
(3) B, C & D &m¢ssh (4) C &D SRS

The process' of using micro-organisms to degrade substances that contribute to
environmental pollution (for eg. oil spills) is called:

(1) Bioremediation (2) Bioprospecting
(3) Gene therapy (4) Proteome technique

03,56 SIENARAS BATSHE HergeoH S30HETanmed kY , DO 6HERA0S
D8N (&m0, SE8Nth Docswo) & focfnorra QenJath:

(1) 855 D88 /23 BRBWAHAD (2) 283 HEah/2xdinRsa)doh
(3) 238 D88 /BN PR (4) 95e30 6388

Optical fibre is at the heart of the modern optical fibre communications system. Which of
the following laws play an important role in the propagation of light through the optical
fibre?

(1) The principle of least action (2) Snell’'s Law

(3) Raman effect (4) Law of reflection

@DES parb, BLHAE BPES p2d EXRAFAS AYHNS? tHoE seah HoelB. ©ES b
G300 SP08R) J2Q) Sahesos? 808 @ee3d? @ mae‘éo AW Foghl aﬁﬁoqnnoﬁﬁ

(1) BRI 58 Xregdo/ The principle of least action

(2) Ry Kegso / Snell's Law

(3) oA H1esI0/ Raman effect

(4) HoeRYN yeedo/ Law of reflection
[P.T.O 5
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Which of the following are the Eco-Sensitive Zones of Telangana?
A. Pakhal Wildlife Sanctuary |
B. Nagarjuna Sagar-Srisailam Wildlife Sanctuary

C. Manjeera Wildlife Sanctuary

D. Kinnerasani Wildlife Sanctuary

E. Pocharam Wildlife Sanctuary

Select the correct answer:

(A, B&Conly _ (2) A,C,D&Eonly
(3)B,C,D &Eonly (4) A, B,D &E only
&3 800 206365 BL0MeadR) HS°- for‘q]e?sﬁ e30:50eD Q)?

A. PSR SN WefoRTE0 '

B. ot Aetib-Be0 Sgeeae wafafRdeao -

C. 3002300 QIREIREND wefafrdes0

D. 83,50 HR@ecae ©2fofedea0

E. D853080 DRI wefafredes0

55 23708050 DOHERIE:
(1) A, B & C &50853) (2) A, C, D & E &70¢83)
(3) B, C, D & E &72¢5ad) (4) A, B, D & E S50

Which one of the following organisations launched global initiative to conserve one trillion
trees around the world?
(1) United Nations Environment Programme
(2) World Economic Forum
(3) World Bank
(4) World Health Orgamsatlon
#3 806 e3¢ @ H0Y HHo50SR 2.8 GAADR E]JS'BEJFﬁJ K0UBE0B0HE HHoss Feow
OB BDHEFHE?
(1080023 & wuaéeﬁdsa Qgntio
(2) 55025 @S Fsvo
(3) HH0cS 232,08
(8) $50%5 @O0t 5033
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Match the following tiger reserves with their state of location;
Tiger Reserve State of Location
A. Kamlang 1. Chhattisgarh
B. Udanti-Sitanadi 2. Madhya Pradesh
C. Dandeli-Anshi 3. Arunachal Pradesh-
D. Satpura 4. West Bengal
5. Karnataka

Select the correct answer:

(1) A-5; B-T; C-4; D-3 ' (2) A-3; B-5; C-4; D-1
(3) A-4; B-3; C-1; D-2 () A-3; B-1; C-5; D-2
% 308 HeV® LTV O 6, O HSESEDEY: |
ene vgfolndeao . méo
A. s3500h 1A gon B 1. $EAE
B. &0008-0&3:50 2 p 2. 8065088
C. 650838-s]) ' 3 otheedS 9Bs
D. o) ; a H3)50 Borred
| _ 5. 8o |
55+ 236792055 DOHEED: '
(1) A-5; B-1; C-4; D-3 | (2) A-3; B-5; C-4; D-1
(3) A-4; B-3;C-1,D-2 ' (4) A-3; B-1; C-5; D-2

Glaciers of the following state are losing mass faster when compared to other states:
(1) Himachal Pradesh (2) Meghalaya
(3) Sikkim (4) Mizoram
2t Dogrodd BTN ¢ 808 TFoh esmAisEE Stfom i gssq'oa!am
55e53,¢8)ve,00: - -
(1), 870557258 DB (2) gD
(3) 8,0 . (4) he3PY0
‘ [PT.0 7

-
!




B

14.

g%]

Ok5?

Consider the following in relation to India's first electric vehicle charging station powered

by food waste: |

A. The station, a first-of-its-kind, will generate 220 units of electricity from food waste.

B. The inauguration of the station was done by the Minister for Environment, Forests and
Climate Change.

C. The Brihanmumbai Municipal Corporation (BMC) is planning to set up similar stations in
its 24 administrative areas.

D. The project is a joint venture between the BMC and Aero Care Clean Energy.

E. Along with powc_zring street lights, this energy plant will now charge electric vehicles too.

Select the correct answer:

(A B&C onh}

(2) A, B & E only

(3)A,C,D &Eonly

(4)B,C, D&Eonlv
588 aﬁéuaene_%ﬁ Fﬁd:ﬁ 2RUBREY dnanesed o)e3§§ 3350365 @e00h VAN & 0200602

&3 §oﬁ &70¢3Q tfareocdain:
A. 83 DO Seancsed Eses 30606, 2b G5 gee K06 220 0y DD

65,8 3R00E.
B. &3 DA, HURHTEs, ©e)d), Fe@sdtes 008 JoB0E)oam .
C. D58 5008 $0AVHS S208351 (BMC) 2enH0e3 PP &S 24 HOTeoE Peo@ewd?
DTN BONF0E.
. 63 PFE H.0.2, JoNBEE §8 DX epano Sosb.
E. 90 H00tH D B oSty 8 950 Fo0t5 B)tH IBE SRR KR
b B30oB.
K0 esa70808) D0eHE0G:
(1) A, B & C &72¢8a)
(2) A, B & E &70¢5ah
(3) A, C, D & E &57&ad
(8) B, C, D & E 5@
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Arrange the following health related schemes of the Government of India in chronolog

order;

A. Janani Suraksha Yojana (JSY)

B. PM Matru Vandana Yojana (PMMVY)

C. PM Surakshit Matritva Abhiyan (PMSMA)

D. Surakshit Matritva Aashwasan (SUMAN)

Choose the correct order:

(MACB,D (2)C,B,AD
(3)A,B,D,C (4)B,C,D, A

800 gt Hed) @B K206 Hifsew SeeEHRRTRE0Mm OG0E:

A. 283:R ¥ Gireess (JSV)

B. G3R 5108 direes) H0¢5H G3mesd (PMMVY)

C. D57 008 KYES Hreh s ©F)afR® (PMSMA) |

D. KOUES imehyds @SS (SUMAN) '
BB Eind), D0DE Sahod:

WRCED: . _ © (2C,B,AD
(3)A,B,D,C (4)B,C,D, A

&

ical

On the basis of time, agricultural credit needs of the Indian farmers can be classified into:

A. Medium term loans from 15 months to 5 years

B. S'hort—term loans up to 15 months

C. Long-term loans beyond 5 years _

Choose the correct answer: '

(1) A&Bonly (2)A, B&C
(3)A&Conly (4)B&Conly

5000 (5:5000) GGRE0M, gRES0H ehe &5eah thes ©SHTeeN Qe $BEB0SSN;

A.15 300 506 5 K§05¢,000) HEH-065FAE Hegoen

B. 15 300 $EK-N@),5ed¥ thegen

C. 895 (5) {05000 P BT Hegw

X905 H55mGImeR) D0 BODOC:

(1) A & B $70¢563) 20 A B&C

(3) A & C &570¢563) (4) B & C &02¢8530

[P.T.0
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India’s position/place in the steel producing countries in the world in 2015 was:

(1) Second largest stee| producer (2) Third largest steel producer

(3) Fourth largest steel producer (4) Fifth largest steel producer
201560 HHOS0 6, (M) &8,B B2 B sRiSHEH0 For0:

(1) G0tie) 0B &), 68, Bt (2) SRES OB &), 6¢5,@math
(3) PR OB 65, 668, @mth (4) 8658) OB 65, 665, Brroth

One of the following programmes was announced in the Union Budget for 2022-23 to
develop ropeways in hilly areas in India;

(1) Bharatmala (2) Girijanmala (3) Parvatmala (4) Skywaymala

48BN 520 Foomdt FEHIOM ©g)5)0 SaDERAS 2022-23 Sog Eee
806 s Ehneed o563 HEBoswdod:

(1) gRY&iee (2) ABeS e (3) DSl ‘ (4) Q3R

Match the following:

nhs

Institution. Chairperson/Advisor
A. Chief Economic Advisor, GOI 1. Y.V. Reddy
B. Chairperson of National Bank for Financing 2. N.K. Singh

Infrastructure and Development
C. 14" Finance Commission of India Chairman 3. KV. Kamath

4.V. Anantha Nageswaran
Choose the correct pairs:

(1) A-2; B-4; C-1 (2) A-4; B-3; C-1 (3) A-4; B-1; C-2 (4) A-1; B-3; C-2
€00 a3 wesHSoc:

0% : B658,5/ 501w
A. 9528 ©08 a5, gpde Haneo 1. 8.9. 86

B. 36 21,08 $6 reR)0h Q056 ©o& G308 2. 98.8. hof
2B05Y,0 -

C. g708¢& 63481435 &b K00 PR 3.KV. S5 &®

4. 3). @508 FAEER
NN 28N QoY SahHod:

(1) A-2; B-4; C-1 (2) A-4; B-3; C-1 (3) A-4; B-1; C-2 (4) A-ﬁ; B-3; C-2
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Read the following statements about the ‘Mahila Shakti Kendras’ (MSKs):
A.ltisa Centrally-sponsored scheme,

B. The shares of Centre and States are in the ratio oF'SO:SQ.

C. The scheme is meant for the rural women empowerment.
Choose the correct statement(s):

(MAB&C (2) A &B only
(3) B only (4) A&Conly
Soarwe 3§ Someey (Mske) tHB0S §08 ar@EH StH0d:
A. 26 805 o Gireses 550,

B. S0S0-Teglee aeémen 50:50 A5, B8 &mp,an.

C. &8 50 pes Sharwe AHSBEH 850 &BB0SE0B.

3R aRE(@)N) o)ou}s‘{f]crﬁo&
(MAB&C ' (2) A &B regiah
(3) B &og8ad . (4) A & C &5eg8ad

Matchthe followingschemes introduced by the Telangana government to help the handloom
weavers with their core 0bjéct§ves:

Scheme/Programme Objective/purpose

A. Chenetha Mitra 1. Thrift fund scheme
B. Nethannaku Cheyutha 2. Reducing the burden of interest on handloom weavers
3. Input-subsidy linked wage compensation scheme
Choose the correct pairs:

(1) A-3; B-2 (2) A-2; B-1 ~ (3)A-3;B1 (4) A-1;B-3

BR3¢ 596,508 HER0N0 SoHrRS Boomes HghHeo HIF 1PN §0b HefsevR a3
B3 EJsaEJeﬁ“é 228505506
m&&/_ajﬁga& & Q&fo/e)ggo
A. ©3r3¢5 Shes 1. 80tH5) AG (B Hok) S0
B. 8%, cIohrees 2. 8338 3¢ S0 G gpue’, BHoSEo
| 3. AR -08)K Dof 36 H:580 VKo
3% 205 2098 Sahod: | '
(1) A-3; B-2 (2) A-2; B-1 (3) A-3; B-1 (4) A-1;B-3

[PT.0 1
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22.

As per the new Industrial Policy Framework for the State of Telangana 2014, which of the

Following categories were covered for receiving financial/fiscal benefits?

A. Women entrepreneurs
C. Medium enterprises

Select the correct answer:

() A&Conly (2) B&D only

BVOME D0 Keehi Bz AN S0 (D §
SCIReIRR) S0t 5550 800 8fboss 53 556 Jab

A. 5)350%0 a10FechEaesen
C. 8265, 565538 Hoigen
. RGN DR, A0HE0E:
(1) A & C Hr0¢dah
(3) A, B & C a¢had

23.  Match the following sectors with regard to h

~ districts of Telangana as of 2020-21:

Sector of Highest % of Power Connections
A. Agriculture

B. Domestic

C. Industrial

Choose the correct answer:

B. Micro/small enterprises

D. Large industries

(3)A,B &Conly (4)A,B,C&D

5, 2014 Gsetfo, Sl
GROW?

B. R5e§ ‘/:SJR’JJ HYI8 ROPeY.
D. ¢ HBFshen

(2) B & D &igiah
(4)A,B,C&D

ighest share (%) of power connections in the

District
1. Ranga Reddy
2. Medchal-Malkajgiri
3. Medak
4. Hyderabad

(1) A-2; B-1; C-4 (2) A-3; B-4; C-2 (3) A-4; B-2; C-1 (4) A-3;B-2; C-4
2020-21 ApE3S B0 e3¢ A® SIFIV WS HE TetR (%)% KHo0H0D §0b

BomeRd HoR0HES 3RS BSHTI0G6 :
0SHY % hd EIYN tfo Yotfo
A. S@eaho

B. tf)a30/ GRS
C. POFY/R0EYAHS

%5085 2357020:) Q0tH80d:
(1) A-2; B-1, C-4 (2) A-3; B-4; C-2

12

e Ry ;
1. BorRdds

2. 065,0-here,nd

3. 58

4.3Re50eeRk

H
(3) A-4;B-2; C-1 (4) A-3;B-2;C-4
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X : mple in
Which of the following statements are correct in relation to the Ramappa temp
Telangana?

A. This temple is located in Mulugu district.

B. It was declared as the 'World Heritage Site' by the UNESCO in 2020.

C. This is also known as Rudreshwara temple.
D. Floating bricks were used in its construction.
Choose the correct statements:

(1) A&D only (2) B&Conly

(3)A,C&D only (4) B,C&D only
BOORERSR) Tosii) 1HES HOWOHOK S06 a@ESH KOS D7

A. 83 tHE Smenth e3epdd ¢od,

B. QRIS (UNESCO) BN ‘9505 artikies, 50:5¢5'm 2020650 9EBoDoa.
C. B HBEY Barecho © eV,

D.63 RT%e069 BfE QnELR &HARA0T,

R8N aR@®N d0HE0E:

(1) A & D &regdad | (2) B & C s5eg8ah

3) A,cénaﬁﬁ@aia ~ (4B,C&DSRED
Which of the following census recorded the lowest sex ratio in India?
(1) 1981 . (2) 1991

(3)2001 (4) 201

& 800 & as0zR (205006 gRESHI0NS -NHNA VKB & 0m $IPF0H?
(1) 1981 (2) 1991

(3) 2001 ‘ (4) 20M

[PT.0 13
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27.
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Consider the following in relation to the Hyderabad Civil Service (HCS):

A.The HCS was inaugurated in the year 1884.

B. The introduction of HCS was constructive engagement of Mir Osman Ali Khan.

C. The selected candidates were trained at Nizam College.

D. To inculcate administrative practices the HCS trainees were sent to British India to wory
with officers,

Select the correct answer:

(1) A,B&Conly (2) A, B &D only

(3) A, C&D only " (4)B,C&D only

aec3TReRd A MM (HCS) & Koe10f0od & 806 T0¢3A (faroHain:

A. 3P0).R.0R.8) 18846 Fatfog)oweth.

B. 3°00.2.0R. 8 13 218 265800 a1 60,0 @) g1 ATe,Eged,E V000

C. Q003X @R daro Sermo0e B BaTeh.

D. 38R0 HEfvd 20D §55AS &3 3705.2.08. B grdds DD
©HHOS HISHEIE HoHTD. -

R0 2aTe20RD )0HER:
(A B&CSRED | (2) A, B & D &50¢8 3
(3)A C&D SR (4) B, C & D &0o¢sah

Match the following industries with the places where they were established during the
period of last Nizam: '

Name of the Industry ; Place
A. Azam Jahi Textile Mills 1. Bodhan
. B. Alcohol Factory 2. Yadgir
C. Hyderabad Chemicals & Fertilizers 3. Warangal
D. Oil Pressing Factory 4. Hyderabad
5. Bellampally

Select the correct answer:
(1) A-4; B-5; C-3; D-2
(2) A-2; B-1; C-3; D-5
(3) A-3; B-2; C-4; D-5
(4) A-3; B-1, C-5; D-2



gy S DB

B 500 5°
E‘;% &3 806 DHB Deeo o008 FOEIED 50BN 57083 °0

HOFH W Jeodso

A. 230 hredse ¢35, B3 0ew 1. 85865

B. ®@,5558 aRg0 2. @3@5

C. 3rt50erb SQ0ES, 0ok 200mb 3 elelei]

D. @owd 33’00 0 4. 35002 B

5. B0DY

00 23502080 D0HERH:
(1) A-4; B-5; C-3; D-2
(2) A-2; B-1; C-3; D-5.
S 1610 4
(3) A-3; B-2; C-4; D-5
(4) A-3; B-1; C-5; D-2

28. Who wrote the poetic verses, “puttuka Needi-Chaavu Needi: Bratukanta Deshaanidi”?

(1) Dashradhi Krishnamachar\)a D
(2) Kaloji Narayana Rao
(3) C. Narayana Reddy

(4) Suddala Hanumanthu

“SDENE B - %) DO: g0 B3R ©3 Q& Hopen IH0D?

(1) TeBEEH sg,a;;aﬁﬁaatié
(2) Soe9928 yeURONEd U2
(3) R.me0e0%€8 BG

(4) K@ o0
[P.T.O 15
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23. With regard to the GRID policy of the Government of Telangana, which of the following
statements are correct?
A As per the Telangana government, it is ‘Growth in dispersion (GRID)' policy.
B. The government provides special incentives to the companies that set up their units
beyond Hyderabad.
C. Spedcial incentives will be provided if they set up their units beyond the western part of
Hyderabad.
D. IT parks in Pocharam and Kompally are under development.
Select the correct answer:
(1A, B,C&D (2 A&Bonly (3)C & Donly (4)A,C&Donly
Soores P20 08 (GRID) TS So20503 §08 53353359.3275 Q053 22
A Soores 9200 Sse80, 20 6% a8 &JYN (GRID) ITNO.
8. Zr6ReRbR0se08 Jende alRAYND ATy SDHI 02D JghEo HEE

R0 00B008. -
C ZRETenb 53 05293 Seudo AIRALD Aoyen FDDos SEF P '
¥€),0: aESean.
D. D500, 20598 08 (IT) :then 0S50 OIS &R0,
5% SRR, 0hSRod:
(1A, B,C&D (2 A&B IRED

(3) C & D SRED (@) A, C &D RSN

30. With regard to the Rythu Bima scheme of Telangana government, read the following |

statements:
A. The government provides a maximum of 310 lakh financial assistance under the scheme.

B. The claims under the scheme are settled within 10 days.

C. Under the scheme, 80% of the insurance premium is paid by the government.
Choose the correct statement(s):

(1) A&Conly (2) A &B only (3) Bonly (8)A,B&C
Soomes S8 3 iR 558 02080 & §0b F@ED SUS0s:
A. 83 H¢550 Sods (56 Do 10 ©FR 608 Naafed), 320$0 eodmod.

B. &3 H5%0 $o0d5 380:)en 10 Hiered? H8:1 Sodatszan.

C. 82 H5%0 8ot Dir HaHos? 90% J2hE0 I bod.

50 D) 0cHE%0E:

“]A&caiﬁgfb QA&BIRSD  (1BIRED (4)A,B&C

16
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32.

33.

Find the next term in the following series:

800 330 sthamas 33 Kom, 6 2

0,6,24,60,120,210, ?
(1) 336 , (2)326
(3) 340 (4) 338

A Woman points to a Manin a group and said “He is the Husband of only Granddaughter of
Grandfather of my brother”. How that man is related to the woman?

28 QDR8N &8 QWEDE] iR &Y hHanY &3 Ao rBoJJoﬁ‘J " @B, AP
3R A, eeh red cﬁn&‘za;éz,%ﬁnéaﬁoaej A%, 8" © DD, 838 D&%
1) Husband (eJ8) _ (2) Grandfather (&50¢§ re(h)

(3) Grandson (52:585¢%) (4) Father- in-law (37250 Meth)

If yestérdav was Thursday, what will be the day after 163 days from today?

2.53¢ AN tHhaeto wond, &3 B N0od 163 Blere) Bthaes 3, oy & apto
®©3)eHod? :

(1) Friday (©Eae80) (2) Sunday (8Qae50)

(Ep Tuesday (ab0tiFaedo) (4) Monday (RJ8s0a3880)

Population of six cities A, B, C, D, E and F from 2010 to 2015 is given in the following Table.
What is the ratio between the population of the city C in 2012 and the total population of all
the cities together in the year 2012?

806 HEIES? 2010 K0G 2015 SBH A, B, C, D, E, 5H00 F 03 6 a’)w@@g@
2@1}2;3’1305’3%6095“5 € rﬁﬁd maaajaé 2012 &° ©), Stivee c‘mJejo a:ma:aé AQ Je'?n D0es?

B Year/ ' City (Populatlon in lakhs)/ ’ ' a \
Q033,80 280 (2370830 ©EEI0)
A B C D E F 5

2010 125 | 210 | 85 | 150 | 98 | 138

2011 135 | 225 | 89. | 170 | 10 | 152

2012 42 | 240 | (B1) | 180 | 130 | 160

2013 a8 | 250 | 99, | 215 | 140 | w5

2014 155 270 105, 230 145 190
2015 160 290 10 240 160 198

(1) 191:2000 (2) 197:2000 q  (3)193:2000 [4)199:2000

[PT.O 7
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G
In a code language, if THINNING is written as VKNUYVEZ, then how PERCENTAGE is written
in the same language?

2.8 83 ga®® THINNING Q VKNUYVEZ M UoR), O3 gRsid® PERCENTAGE @ & tSom

DerJath? i

(M RHW{NYGRZZ (2) RHWIAPKTDH

(3) RHWiPAKTDH (2 RHWINYGPXX

What is the value of the following if, + is changed to x, - is changed to +, x is changed to -
and + is changed to +?

2EDY + xR, -+, x A -+ A+ M 103, §08 @A Y J0es?

3050 + 2569 - 367 x27+259

w2 ¥
(1) 5581 (2) 21582
(3) 7825800 (4) 78258

The sum of current ages of A and B is 42 years and after 9 years the ratio between their
ages will be 2:3. What is the difference between their current ages? (in years)
A, B SK0es Sahe 3neSo 42 505 Toe0. 9 0,00 StHares 5700 50D AayB
23 ©and, a0 BV SOHK Hes B D0S? (N0HETR?)
(2)8
(4) 12

7

(M6
(3)9

What will be the next term in the following series? .
806 363650 Sthaeds &g)) oA 2

1.000, 0.3333, 0.2000, 01429, 0.1, ?
| (2) 0.0769

(4) 0.0588

(1) 0.0909
(3) 0.0667
¢

In a certain code MODEL is written as '1532#', DEAR is written as ‘8#3%', MONEY is written
as '7#52* and MADE is written as ‘5#3%" How is ROAM written in the same code?

5,5 S5E 2705365 MQDEL 9 *}532#' o, DEAR R '8#3%' 1o, MONEY ) ‘7#52 TR, MADE & '5#3%'
0o, ©F PS8 ROAM Q Qe Toeth? ‘ )

(1) 3#58 (2) 2%85

é

(3) 5%23 | (4) 325
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42.

T — T ——
@B

iven i win
Income and Expenditure details of Five companies A,B,C,D and E are given in the following
; 3
Bar chart. What is the average profit for all the five companies together (in Rs. Crores):

S06 22 a6 0 68 45,00, 03 mth 0 20 G, BPE DiSTen AHFAOD
D S0 DAL Ak, tiew emgto a0 (1w SLSY) AL
Income and Expenditure (in Rupees Crores)/ escraty 9;)/6
Sforen (8 ardab’)
3 income 7 smeaho B Expenditure / syaho
ano 372
3s0 [} 324
igg - 28 262 268 248
< . 188 196
150
100
50 D )
o L -
A B c L2 E
(1) 70.20 (2)71.20
(3)70.40 _ @17220

Ina certain code 'support the other group’is written as ‘ja pe la no’ ‘the mission gain support’
is written as ‘ke ja zi I, ‘gain other than monév' is written as ‘fu no ho zi' and ‘more support
and money’ is written as ‘re i fu Jja' What is the code for ‘mission’?

2.8 A0 §9& g0 ‘support the other group’ Jja pe la no’ T, ‘the mission gain
support’ ] ‘ke ja zi la' ™, ‘gain other than money’ A ‘fu no ho zi’ 173, ‘more support and
money’ A ‘re gi fu ja’ o ToR), ‘mission’ A3, §9& AEI?

(1) la | (2) zi

(3) ke ; (4) ja

Ais the brother of B. B is the sister of T. T is the mother of P. C is the brother of TandDis

the husband of B. Q is the bnly son of R and R is the grandfather of P, how would ‘T’ be
related to 'R"? '

A, B (30, 5¢580¢H. B, T 0I0E, D5¢50. T, P Gng, &6, ¢, T A3, AsESHED. D, B Qi efd.
Q, R G0, 2,82, 5. R, P GINE, @& Mt ©and, T, R § D305)e06?

L‘I) Sister-in-law/ $)5¢5en St HAX
(2) Granddaughter/ a0

(3) Sister/ R3¢0

(4) Daughter-in-law/ §9¢5en

[PT.0 19
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In the question below are given two statements followed by two conclusions number | ang
Il. You have to assume everything in the statements to be true even if they seem to be at

variance from commonly known facts and then decide which of the given conclusions
logically follows from the statements disregarding commonly known Facts and seleet the
appropriate answer.

Statements:

All mirrors are phones

Some phones are gadgets

Conclusions:

I. Some gadgets are phones

Il. Some gadgets are mirrors

(1) Only | follows

(2) Only Il follows

(3) Both I and Il follow

(4) Neither | nor Il follow

80¢5 Gocd H¥LVY, 0839 OO, | HBaf I AFafeen Qs RITEOw. Q) HEe[eD
Qa0 505,038 e Aeores Hotfedood. ©r) Aafren SO BoE, SCnclefleler
3OS FPTOD K009, A, AYI SE0Pe Soag, el ¥ HEPAEP Hgedle
A0, K3 eieeni® Q0BE adod. 4

SE0Be0: O, SR T, %@/ &

5§99, Do MEE (HOSTRD) |

Aygofren: |

. 558, G i

Il. §3Q), e c{:q];'aaw

(1) SA0%) | Smad ©RBE0R ¥

(2) S0A0KY Il dregsa @HNBFOE

(3) SwAos)en LIl owe @ROT0N
(4) E0AOED |11 & B0t ©IB0SD
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44,

45,

46.

. Identify the term which does not fit in the series.

<

meters
Point B is 3 meters North of point A. Point C is 3 meters westoF polnt 8. Point D1= tion
i
South of point C. Point E i is 11 meters East of point D. HOW fa ORI or i e
is point E, with reference to point B?

P00 B, WO A § edons 3 Dy ERosH GoB. BN C, Foowods B 8

SJ20008 E, &1000¢5 D § ety 11 it (ipE0S? €06, FeOOLS E, FI0N0E

58068 & HF &oa? /\) o
(110 m, East/ 10 abéath, gath, « & “
(2)10 m, South-East/ 10 ueath, @fi,aho e
(3) 8 m, North-East/ 8 éhejga, &3@0r)0 (S
(4) 8 m, South/8 Queath, t58ea0 2 ] \1 v
\ 0 =N,
—_—

There is some relationship between the two terms on the left side of the sign ::. The same
relationship exists between the two terms on the right side of the sign :. Find the right
answer from the following four alternatives.

= tHHH8 essh HEN &, B0t Hwee e 2.8 K000 &08. OBAEOM, : HHE HE
BEH 6%, Both Hree M ¥eme ©d K000 GoGEwm 808 @A Teenth
D0 08 H3H KEREeTed), §8308.

ACFJ: ZXUQ : EGIN: ?

(1) uTaL _ (2) UTMQ
(3) vTaL . (4) VTOM

All the faces of a cube are painted with blue colour and then it is cut into 125 small equal
cubes. How many small cubes will be formed having onlv one face coloured ?

2.8 HaeA8 VA SR ALO Both JRN Bthaed, ), 125 DRSS D5, Hgvenm
EBBOT. 61393[’53 D ) MK 0.8 2.8, KPR Both SahHerd S0oenon?

(1) 54 (2) 80 5
(3)16 (4) 27

.-

800 636 a5t Hwer), EK880d?

GAT, J10R, M20P, P3N, 5901

mear (2) JIOR
(3) M20P : (4) S90L

-

[PT.0 21
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50.

What is the missing term in the following series?
806 Fedeh o83y Do HEeR, EEY0G.

J2Z, Kng?V, ?, H16R, M22P

(s (2) 21
(3)ymr (4) LT
~ S

Six boys, Suman, Suresh, Saketh, Sravan, Sumanth and Sandesh are sitting around a circular
table and all of them are facing towards i:he centré of the circle. Sumanth.is not sitting
between Suresh and Sravan but someone else from the group. Suman sits to the left of
Sandesh. Saketh is fourth to the right of Suman. Who is sitting exactly opposite to Sandesh?
SN zeenth S, KBS, FES, F565, DS, HoBE e HEeseBod? KRR,
e80 g, 30850 B wieRLARM. 003, 55 © DG K050 él'ﬂf)‘%éjrm 50Q), 43
$550705700 f00E NBREW KRR th. K050S, 0083 8 AESsD DR ETethy,me,td. p3&,
RHS & HE YD Teenhd PPN sTED. K088 8 PBOm ADDM IHD

Erdyae,d?
(1) Saketh/ FeS& ' (2) Sravan/ &5¢5
(3) Suresh/ {08® (4) Sumanth/ R05H0&

At what time between I5.30 and 6 will the hands of a clock be at right angles?

2.8 tiG0IRB0E 5.30, 6 0 &, J0C dng) Sl ©0WTE0 DR E0EN0E?
/{1) 43-1-5;min. past 5/5 oo 431—51 QPN

(2) 43 min. past 5/5 fiotow) 43 = DMTL

(3) 437 min.past5/5 tiotor 43 = DI

B .
(4) 4377min.past5/5 tlotow 43 = Daviren



51,

First anniversary of ‘Shoonya’ was held in India in 2022. In this context, read the following
statements:

A.Shoonya is a consumer awareness campaign to reduce water pollution.
B. Shoonya is a consumer awareness campaign to reduce air pollution.

C. The campaign was held by the National Green Tribunal (NGT).

D.Itis a campaign to promote use of Electric Vehicles (EVs).

E. Itis India's zero pollution e-.mobilitv campaign.

Choose the correct answer:

(WA B,CD&E (2) A, C &E only (3) A, B &D only (4) B, D &E only

TR Anesel Hosies s ar0088S 50 2022650 gRBSEE0E 2OAOE. ¥3 Nocstore 3 S06

SRAROND I5I06: .

AQS SoeaRd) SH0SEZ  AIBRHMRHVY ©HMERS  H@0T oy
SDARHHEH 0. . &

B.ae0f seenslk), &Hosmedd AAGRHRHODH ©hmsder  Hietomn A
TREEID0R.

C. 22800 572068 30565 (NGT)E &3 Heretio AYER0SE0B.

D. 28 QOFE aRmee (Even}.&]f{)diﬁna:h D530 8.8 Hamtfo.

E. 3R8B3) 568 (0) an@d @-andd Haedor af &Haet Hr5HeE0s.
N8 aveeni) J0HE0G: '

(1) A, B,C,D&E (2) A, C&E &gEah  (3)A B&D &egiad  (4) B, D& E S5ogsad

52. Smt. Droupadi Murmu is the 15th President of India. In this context arrange the following
former Presidents of India in the chronological order:

A. Dr. AP.J, Abdul Kalam " B. Sri K.R. Narayanan

C. Sri Pranab Mukherjee D. Smt. Pratibha Devisingh Patil

Choose th.e correct order: | |

(1B, A C,D (2)B,A,D,C - (3)C,D,A B (4)D, A, B, C

B FHO Sty gREBBE 155 DogNd. ¥ Howstore 80t ANRED gREY el
SlaRSIONY) sagngoﬁam@adona ©Y,06:

A. TE6 .5.8. ©gne oo B. @ 8.95. meURODEND

- C.8 &ered a8 D. 350 DA BN o3&
00 g6ma) a0 dadod: '
(1B, A, &.D (2)B,A,D,C (3)C,D,AB (4)D,A, B, C

[PT.0 23
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NITI Aayog's India Innovation Index-2021is based on seven pillars. Which of the following =
NOT part of them? .
(1) Business environment and Legal environment

(2) Human capital and Investment

(3) Knowledge output and Knowledge diffusion

(4) Special Economic Zones (SEZs) and Export Processing Zones (EPZs)

98 odirh dng modak aSiSNS =088 2021 O Hogred e=dSiod ol

TS0 DY RothSS gRifo S22

(1) RS RS TRO0, SPDODN ReDT=0

(2) SIS R0, LS

(3) £R°EB, eRR TR -
(4) DB ©0¥ ot (SEZen), ADDS SAJoh £33 (EPZen)

Which one of the following is correct about the elimination of tuberculosis in india?

(1) The National Tuberculosis Elimination Programme (NTEP) was renamed as the Revised
National Tuberculosis Control Programme (RNTCP).

(2) Ni-kshay Poshan Yojana provides 71,000/- to those on TB treatment as nulritional
support. -

(3) Pradhan Mantri TB Mukt Bharat Abhiyaan was launched in September 2022 by the
President of India. :

(4) Pradhan Mantri TB Mukt Bharat Abhiyaan is meant for the elimination of 7B in India by
2027.

aPBSBF00S Saband ARES DaH0SE 300 eS8 90 5362

(1) 25280 b AR 52TE0 (NTEP) 5th:d 5580 2=&ab Sab AahoE==ESM0
(RNTCP) TR &R0,

(2) 2027 S8 gRESBI0S® Fab B AR § o Sges o T8 n§ =0S
©foRY &33050608.



S &
e
55.  What is PM-SHRI (PM Schools for Rising India) Schools Yojana of the Government of India?
A.Itis a Centrally-sponsored yojana.
B. The yojana received approval from the Union Cabinet in September 2022.
C. The scheme’s total project cost would be about ¥ 36,000 crore.
D. The scheme will showcase all components of National Education Policy (NEP)-2020.
Choose the correct answer:
(MABC&D (2) A,B&D only
(3) B&Donly (4) A& Conly
378 HADSED S ID-G (PM Ki,P, 6 Fe20f B0EATR) Fedzeew HISE0 WoLs HE?
A. 20 08 SeG3Reses Gireess.
B. &3 Glreesi 8045 5008 &0¢5d) 30215 202265 wARA0A0A.
C. 83 HEIE0 ¥, Aneo Fo§ 85000 Kusireth X 36,000 Sd6y.
D. 258 &y G0 (NEP) - 20206589 i), DR @0 & HEE0 ven

2500258 08.
+ D8N D8RR, D02E H0DH0os:
(MABC&D . (2) A, B &D &5¢8ah
(3) B & D &5e¢8a : (4) A & C 308853

56. Which of the following states are granted ‘in-principle’ approval under the scheme for
‘Promotion of Bulk Drug Parks’ by the Central Government in August/September 20222

A.Andhra Pradesh  B. Chhattisgarh C. Gujarat
D. Himachal Pradesh E. Telangana
Choose the correct answer:
(1) A,C&Donly (2) B&E only
(3)C,D&Eonly (4) A,B&Conly
2022 @ﬁ@/?aa:;oa)&eﬁﬁ ‘28, S et Qaﬁao‘ﬁr‘i' $¢5%0 8065 S0 HHe80 Sob Teeded
5 TezPpeH KrdaraHome vHiden oeseth BahagRow?
A. eggéaf‘é B. 3BRE C. thesoed
D. SpsRSS HBe  E B0
X855 W55erTRmRd), H0E BAHOC:
(1) A, C &D &5ee5oD (2) B & E ogad
(3)C, D & E S7ghad . (4) A, B & C g
. [PT.0 25
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26

held in 2022 read the following pairs;
e .

With regard to the 36" National Games
arat

A. Host of the 36" National Games: Guj
al games: Karnataka

B. Host of the 35t edition of the nation
C. Year of the 35% edition of national games held: 2015
Choose the correct pair(s):

(1) A &B only (2) B&Conly
2022650 23005 363 edab St $0w0H0D Sod &
A. 3635 epd0h eso @ oogio: HE0S

B. endah &5 355 ABHS @8 0og0 : SPOS

C. 2@ §c50 3585 AGHS e3BAN HoSTO: 2015

(3) A&Conly (4) A only
B SEH0:

D0 esef(2)s Qo dahod:

MASBSRSD  (B&CEINPSDH  @ASCIRED  (4)ASRgD
Match the following BIMSTEC Summits with the host countries:

Summit No. Host Country

A. 2" Summit 1. Sri Lanka

B. 3 Summit 2. Nepal

C. 4" Summit 3. Myanmar

D. 5" Summit 4. India

Choose the correct pairs:

(1) A-4; B-3; C-1; D-2 (2) A-4; B-2; -1, D-3

(3) A-2; B-4; C-3; D-1 (4) A-4; B-3; C-2; D-1

808 BIMSTEC 3000 NaiRd@eexd el OB BTOSS ueHrS0s:

Boalf H53E Hoay S8 3o |

A. 28 B0l MairRaddo 1, 8oo¥

B. 35 3)00(f K&Rd¥0 2. 3

C. 48 BoRY N&RIF0 3. Soa

D. 58 3 0elf HXRSF0 a. gnis ;345

X8RN B8O Q0¥ Jahod: S

(1) A-4; B-3; C-1; D-2 B hek

(3) A-2; B-4: €3, D1 @ A-q' 8-2C-40-3
R Y oS 1



59. Researchers published about Thiomargarita Magnifica in 2022. In this context, which one of
the following is correct?

Mitisa bacterium,
(2) It is a larger coral,
(3) It is smaller than the previously largest known bacterium.

(4) It contains three times more genes than most seagrass.

@airsingeR Sph QY HB0S 202268 HBFHSEHM DHBowet. HAS HowoHod od
TS0 DO HFHH?
(1) Ak .8 eredBafm,

(2) B0 D¢ Hifesam.
(3) FB0S° BV 0@ eribase Kol a8 ANA. -
(4) 26 &0 DX, AR (KSNED) 1) S0€3 el Gew 9%,5 e o EOA &0en0s.

60. Which of the following statements are correct about ‘Exercise Kakadu 2022’ (KA22)?

A. It is a biennial exercise. .

B. The theme of the exercise is Partnership, Leadership & Friendship.

C. It is Australian Air Force’s joint international activity.

Choose the correct answer:

(MAB&C

(2) A& B only

(3yB&Conly :

(4) A& Conly ) =2 .

%6025 5ot 2022' (KA22) tH802 §08 @@ S? KN D2

A. 2B Ba0s 256 pE.

B. 'gRotfegi0 , ARaDEE0 & RyaT 210¢50" 0 Had & 83 A0 Re ¥N &500.
C. 20 @ROAHA HHRAL (520 &6 ©ogpedal setEeedo.
0% eavoani M0 BADOG:

MAB&C

(2) A & B &ega04

(3) B & C smpghad *

(4) A & C Sy0¢5aD
[PT.0 27
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Bz
&
nited Nations High commiissioner for HUman

U
Read the following statements about the

Righs: jons.

i t
eral of the United Na
A. He/she is appointed by the secretary Gen |

B. She/he is appointed for a fixed term of 3vye
a is appointed as the Hi

ars.
gh Commissioner for Human Rights j,
C. Volker Turk of Austri

. September 2022.
D. He took up his duties in October 2022.

Choose the correct statements: .
(3) A &Conly (4) C & D only

(MA B C&D (2) A & B only

L TRes 0N BB HoHY FRENHHD 50200508 8§06 TR 5H0E:

A. 805 0e30 0SB 288 2355855 ©e8/Bad DOHEH 0TI EDRD.

B. 3 :5055¢8,000 S oo SFHHOS @F/@BD QoH0LI2ICRD.

C. QAR [oBD 5’593&5 06, APoE 2022690 TP Seye  33eEANbMm
QoH A S5 ATTRg ).

D. GO 8655 WoCHESRD ©FPIED 2022658 FHERCD.

BB @R D0DE BFOHOG:

WA BCED . (DASBSRSDH  (ASCSPED  (4)C&D SRSD

Read the following statements about the FIFA Underl—17 Wc;men‘s Football World Cup:
A. The world cup was held in October 2022. |

B. The matches were played in Ahmedabad, Bhubaneshwar and Mumbai.

C. Team; from 16 countries participated in the world cup.

Choose the correct statements:

NA B&C
™ (2) B &C only (3) A& Conly (4) A & B only

DA FEAL SCCD 17 D3R ROl o o8 fnn R 565508
A. ©F226 2022 &8 &3 D0 5B AYERoSBE0R 800 TP :

B. @539,t302308), 20&3EB, sMoBeres &3 VS
C. D0 EHE5° 16 BB SF0HHS 238 eeSe
BB @YD DODHY SohHod: i
(1) A, B&C (2) B & C &30¢853,

D &8meaw,
N800,

G)A & sresa, (4) A & B S5
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64.

&

Read the following statements about the Flow Chemistry Technology’ (FCT) HUD:

A. The Government of Telangana inaugurated the hub in December 2021.

B. The hub was set up at pr. Reddy's Institute of Life Sciences, Hyderabad.

C. The hub will be an enabler for the pharma industry in India.

D. The hub would function as a Centre of Excellence (CoE).

Choose the correct statements:

(1) A&Conly (2) B&D only (3)A,B,C&D (4) B,C & D only

s Q&'DEEJ eIso@e! (FCT) 55025 tH802) 806 @O SEH0E:

A. BOOME HEHEO &3 5e5:5 G026 20216° F505006.

B. @ iveenbodd) myb 860 adtmd of B85 pRHOP 83 e DU S00RE06.
C. BRESBHOGR 5000, 50550 83 55025 2.8 BOLSSIOM GOLV0B.

D. &3 025 RJt_J&)S R DB, (CoE) e H JR006.

RZR @@ 0D SahHod:

(1) A &C 50¢83) (2) B & D Snga (3)A,B,C&D (4) B, C &D &0gH

During the Telangana Government Delegation’s visit to the Davos 2022 World Economic
Forum meeting, several investment opportunities were opened up. These include:

A. Hyundai group announced to partner in Mobility Valley.

B. Stadler Rail has come forv;*ard to establish the rail-coach factory.

C. Japanese Tuttsan Pharma to invest in the Pharma City.

D. e-Commerce company Meesho to start its business in Hyderabad.

E. Spanish multinational company Chemo Pharma to expand its business in Hyderabad.
Select the correct answer:

(1) A, B,C&Donly (2) A, B,D &E only (3)B,C,D&E only (4) A,C&Eonly

\
€

e8P 2022 S8 D¥E Psto JiRSaerS Boomes Hed HEIG 23,0650 DL

065%,0m VRS PG VITTEY BYSagIaN. eS8 5o

A. 50,08 (1705, DO DB gnifeghm Goterdd H5Bo0s.

B. 365-638 009 FeR0:SERAS Fob BS E0HH 59,08,

C. 3008, eSS e DGR, 2R Qer,S Fo0s,

D. &3-50a 6, 08 6D g LSTRer NN &R aREeTed), FRB0E)oBHOB.

E. A2, ei¢f 2@ N0Y) ‘Sl 30y, 2riTeenhd &5 ar@rted) 0008,

K0 a7 0EHECRVE:
(1) A, B, C & D &5&iad (2) A, B, D & E 50083
(3) B, C, D & E 0ogad (@) A, C&E SPED

[PT.0
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66.

30

Bl e |

e
i
With regard to Pochampally village 0n the outskirts of Hyderabad, which of tha m"’ﬂvii,lp

statements is/are correct?
10) awarded the ‘Best Tourism Village! titfey,
" M)

A. The UN World Tourism Organisation (UNW

Pochampally village.

B. The award was announced in April 2022.
C. Pochampally ‘ikat’ designs already hold the Geographical Indications (Gl) tag,

Choose the correct answer:

(1)A,B&C (2) A &Bonly (3) Conly (4) A & Conly

205meent Baplesd Hs0Hd MiRAS H0220H0%) 806 amddd 5T amgn(e) dey

Sap | |

A. 05,0023, H0:5 ayeB230 HOF) (UINWTO) 2655068 [si7eAS '6¢8ah Suehd My
DHEHR HEEI0N0H.

B. &3 03N ARS 202267 HEL3oce.

. C. D5505§) '2¥E GEOe 238 g°Ned8 XndEe (Gl) % SO eamow.

3% DSmRERTRR) oS Zohoc:

(1) A, B&C 2)A&B&REGD  (3) C&eeiad (4) A & C 570¢55))

As per the SIPRI sources, the total global military expenditure increased in real terms in
2021, to reach $2113 billion. Arrange the following first four countries in descending order
based on their military budgets in the year 2021:
A.India : B. China _ C. The USA D. The UK
Choose the correct descending order:
(1B, C A D (2)C,B,A,D B)ce
o C,B,D,A (4)D,C
R 6B, A

SIPRI &reere §5ed0, dneo R0 VY § i

S D000 202169 greigis Hisorme $2113 HIHFY

BHH0B. 2021 H0HS TG T30 PAE WS e
=7 N0 Gy
©05Be E5068 WHG06: o 806 el meenth GOV

A. 888330 B. 30 |
C.usp
8% 0500 §557R) H0H0E; D. UK
Br C,AD (2) C B, A, D
' ! (4)D,C,B,A



67.

India established full diplomatic relations with Israel in the year:

. (1)1956 (2) 1989 (3) 1992 (4) 1998

68.

69.

REPEHES REBEB0 R0 G2, Hon0men & H05&606° HEEHH:
(11956 (2) 1989 (3) 1992 (4) 1998

A wave of pro-democracy protests and uprisings known as ‘Arab Spring’, took place in the
West Asia and North Africa during 2010 and 2011. Consider the following in relation to it:

A. The first demonstration known as ‘Jasmine Revolution’ took place in Tunisia in December
2010.

B. The second is the Syria's January 25 Revolution of 2011.

Choose the correct answer:

(1) A only (2) Bonly

(3) BothA&B (4) Neither A nor B

2010, 201 SPOOE HARBPAODR, GSY GPSE? 'O AR VI Lendwd HeEe
©hHER AGHH, Aththerey e:0mon. HAZ 502060 &2 §06 a3 HOtIoS0d:
A. '23Ry® BSREN’ OR dendad At HeStS dRoab 201068 tnARafRds 2:0R06.
B. G0 20M 233580 25 Aeth 2260 ABAR AHo.

0N 233020 DocHE0C:
(1) A &5¢8ad (2) B s7egia)
(3) A & B 3oy (4) A & B 8053 5t

What is the name of the train that runs between Kolkata in India and Khulna in Bangladesh?
(1) Banga Milan Express
(2) Rabindranath Tagore Mail
(3) Bangla Express
(4) Bandhan Express
e BH0e5ER) SBSE@R, OTRBRGE guer, el Hd Jen 1th AME? - -
(1) 220 S A5V
2) 890 vetiRb Hond
(3) 207 Q5D
(4) 22065 DGRV
[P.T.O 31
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72.

|

Where did the 17th Edition of Indo-US joint training exercise EX YUDH ABRYAS 21taye

in October 20217
(1) Alaska (2) Rajasthan
(3) Texas (4) Odisha

OS5 202165 175 IG5 @OEH-0WAD w0 BA0H IFHRE & Wf ot
LR 21 DS 10N06?

() ©eRYp, ) Uaejfg)a.'ﬁ

(3) 352y (4) .G

Which international tribunal has the right to prosecute individuals charged with the grayest
crimes like war and crimes against humanity?

(1) United Nations Investigation Agency

(2) United Nations Prosecution Council

(3) International Criminal Court

(4) International Court of Justice

ong Soeew, SRISERA8 S@Kom 515 & SoeeH TG SO Sabod
805, D ©OSTAAN AROH IS &06?

(1) OJEBE M) BN DEN)

(2) 8ETOHNS FPAEREA Qﬁ,ei

(3) @0STAOH 3ESES 8§55

(4) ©0&edah FR0He0

A fuse wire must have these properties:

(1) low melting point and low specific resistance metal and low ohmic loss

(2) low melting point and high specific resistance Metal and low ohmic loss

(3) high melting point and low specific resistancq Metal and high ohmic loss
(4) high melting point and high specific resistance me
DS 7oy &I S8 DO (Sua,en;

A1) 55,5 ALY @BFGO a0Bafn &5, SJ,%;Q Q055 ¢35
(2) €650, (58I Ford0 B &5 DB 255 &

tal angd high ohmic loss

¥590 )00 2,55 8,508 O
$e0 Bt B0, 8.6 T
2 855 6555520 5,80 8,35 8,505 B30
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73.

74,

75.

Consider the following pairs:
Scientist’s Name Discovery

A. Aristotle : Geocentric theory

B. Copernicus : Heliocentric theory

C. Galileo : Law of universal gravitation

D. Newton: Principles of calculus and optics

Choose the correct pairs:

(1) A&Conly (2) B&D only " (3)A,C&Donly (4)A,B,C&D
08 8o Hotigdosod '

B3 ) @A YBea

A. @Bt : gfR803% Ageodo

B. 580,50 : {7e0; S0¢5¥ AgRodo -

c. 1ddairn : & ththEeEte

D. K53y : B0tiedds, ¢5,%; @) Regeen

R85 228508 D0DE Brn8s0d:

(1) A & C &efah (2) B & D &g

(3) A, C & D aiyeghad) (4)A,B,C&D

Crude oil remains the primary source of many petrochemical products. What is the name of
the process used to separate the various products like petrol, kerosene, paraffin wax from

crude oil?
(1) Osmosis (2) Distillation (3) Sublimation (4) Diffusion

S0E S50th OSE DETVES &SDOH FEWE Keeo. End SBH Hod DS,
85505, DS S, Ho8l DG s&Hex 5B S0HwA8 SRS Hah HE

AEI?
(1) SRR (2) GRBAD (3) HDDAR (4) GHRAR

What are the primary consumersin a grassland ecosystem?

(1) Photosynthetic plants (2) Herbivores
(3) Carnivores (4) Decomposers
HEE Do HoRRTE SV FoesE AR Tt QID/8)?

(1) 86g0esiS, Hocker S0 2200 S (2) FRARERHL
(3) SpoRRaTsthen () o sethen/GEoased,
[PT.0
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e,

Arrange the following wind energy producing states based on their installed Capadt‘linth
_ ;
descending order in 2020:

A. Maharashtra B. Gujarat C. Tamil Nadu D. Karnataka

Select the correct answer:

~MABCD (2)C,D,B,A (3)C,BAD (4)B,D, A C

2020 E38 o ad o Sapads PP o eFetom 83 800 5% AW Gegg 1
Do) 0085 es ¥sH0e) @ahdysn:

A. DT TRY B. f)23008 C. 50D D. 800 0¥
8 ;

0N 3920/ QothHERD: |

(MABCD CD,BA (3)C,B,AD (4)B,D,A,C

Match the following lakes with their locations:

Lake : Location

A. Sasthamkotta 1. Uttarakhand

B. Roopkund 2. Ladakh

C. Nako ~ 3.Himachal Pradesh

D. Pangong Tso ' a, Kerala '
5. Sikkim

Select the correct answer:
(1) A-4; B-1; C-3; D-2
(3) A-4; B-3; C-2; D-5

(2) A-3; B-1;C-4; D-5

(4) A-2; B-4;'C-3; D-1
83 00 RBRYON 57083 Fo0@PRIEB 236556555

A. 55083 1. &50eg08
B. 8308 ¥106 2. O
D. 5Je011e00 16 3 4, 8ef
5. 08,0
20 ea3920R) 0cH 8K

A-4; B-1;C-3; D-2,

(4) A

-1, C-4; D-5
"2, B-4; C-3; D-1

3) A-4;B-3;C-2,D-5



78. Which of the following biosphere reservesis NOT on the list of UNESCO Network of BioSPRere

Reserves?
(1) Nanda Devi (2) Manas
(3) Nokrek (4) Similipal

&3 S00 @l & 2akR)AH5 Be:b; oIS, a;o’.‘mﬁho‘.ﬁﬁ 65556, Oner? G2 ~
(1) S0 B (2) $R55 '
(3) 9§ (4) DO .

79.  In which forest types of India, one can find the commercially important cinchona tree?
(1) Montane forests
(2) Tropical deciduous forests.
(3) Tropical evergreen forests
(4) Mangrove forests
275 SBE0TR & ©ed T aedastione daEhi, A0SR BeN:h el i?
(1) A0 OEsHEN |
(2) &0 GHTE, VP
(3) 6ot & 08 oHe

) S O

80. What is the length of the Hyderabad Metro Rail (HMRL) network as of November 2022?

(1) 51 Kms (2) 57 Kms
(gj 69 Kms (4) 72 Kms
550226 2022 w638 255002700 a0¢3° §6) (HMRL) 365656, Dot5ad) D0 &RR?
(1) 518.60e0 (2) 57 8.00en
(4) 72 8.00e0
(3) 69 &.50en _ )

[PT.0
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Arrange the following districts based on their percentage of forest area COverag, .
descending order:

A. Bhadradri-Kothagudem

B. Jayashankar-Bhupalapalli
C. Mulugu

D. Kumuram Bheem

Select the correct answer:

(1 B,AD,C . (2)C,A DB

3)C BAD (4)A,D,CB

%3 806 2320 aetd 003 DYTER TR aaM@oeﬁé @ thw:
A. 2iEeR)-89¢5t15eE0

B. 220040 5D-gfRape e

C. senth

D. %5080 §o

8 227020 HOLHERDE:

(M8 ADC (2C,A DB
(3)C.BAD (4)A,D,C, B

Match the following tourist destinations of Telangana with the district in which they aré
located:

Tourist Destination District

A. Pakhal Lake

1. Kumuram Bheem Asifabad
B. Saptagundala Waterfalls

2. Waranga|
C. Ramagiri Fort 3. Nalgonda
D. Devarkonda Fort 4. Peddapali
Select the correct answer:
(1) A-4, B-3, C-2, D-1 () A-2, 5

"1! C“d, D-3
(3) A-1,B-2,C-3,D-4

& Aﬁz' 8_41 C-1,D-3

%
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84.
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BROMEYESS AR
R 800 ooy POMOK) ) 16, B30 B0 pIdsHES00:
HoR0E Moo g o
(U]
A. SR {5 o
0 na 1. &80 N @hnend)
% PRADOEO Bodamey 2. 015
C. D2AB §3¢y 3, 5690
D. 358890¢4 SN 4I mé{,g;@
N0R &20%) D0H8IE, gl

(1) A-4, B-3, C-2, D-1 (2) A-2, B-1, C-4, D-3
(3) A-1, B-2, C-3, D-4 (4) A-2, B-4, C-1, D-3

Which one among the following forest t.vpes belongs to littoral/tidal/swamp forest?
(1) Alpine forest

(2) Mangrove forest

(3) Tropical deciduous forest

(4) Tropical thorn forest

53 806 W& YSPP DB HNEBE0/D560/ASE OEHOH F0BHE?

1) ©B)S 9D '- ' |

(2) SE ©E

(3) GHDOE® GHTE, VK

(4) 6006 S e

Consider the following statements with regard to Telangana geography:

A. Telangana falls under semi-arid region and has hot and dry climate.

B. Winter season in Telangana is dry and mild.

C. Lowest temperatures during winter season are recorded by northern Telangana as
compared to southern Telangana region.

D. Highest temperature of the year in Telangana is recorded in the month of May.
. Hig

Choose the correct answer:

2) A& Conly
(1) A, B & C only (2)

(4)ABC&D
(3) B & D only

[P.T.0 37
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BOOME FPHIYY womeH Honood §0B M HordoSod:

A. B©0mmeey N %@, Sooso S0 SKOO HH0an S6, T LLEET @
&0N0H.

B. 3006k Bmeseen i, o Jetidm G008

C. 350085 ¢33 @women gosos® D397 &S0 SVOMRG® Ve, Sl
NaRgHmeon, -

D. B00rmRERdH H0:58,5068 oY eZbtdm & SrHod? SdrGaeay.

NG DETRERH0 H0HE0E: -
(1) A, B &C &oegssh (2) A & C &70g8ad
(3) B & D &i7o¢dad (4)A,B,C&D

Annie Besant was associated with:
(1) Ramakrishna Mission

(2) Arya Samaj

(3) Theosophical Society

(4) Prarthana Samaj

@B BAS Koo KON &%,0:
(1) Do RS
(2) @8, Ddaireeso

(3) B2 Haes0 (HARRES Jopel)
(4) oG Heireeso

Who among the following was a moderate Congress man?

(1) Rajnarayan Bose

(2) Ashwini Kumar Dutt
(3) Aurobindo Ghose

(4) Gopala Krishna Gokhale
800 &R0 Qesarcs 52039 I8 DHth?
h—_‘_‘—-—-—|_-

(1) Oee§ mmoi)s.ﬁ' 235 ) ©BRQ 575 58
(3) OGRS & (4),5%3)0, §a h‘éa);
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87. The Secret-go;
Ciety Founded by v.p
(1) Yuganthay - Savarkar wag known as:
(2) Anushilana Samithi

(3) Abhinay Bharat Societ
(4) Krantida

D. G. W5e55 W20

) Q‘fDmo@B ® U@§5i0§m Qe et
(2) O8N Haha |
(3) RS RS oz
(4) SP0RSS e
A £
88. Match the following Persons with the activities that they have been associated with:
rarscns Act_iuities ‘

A. Lala Lajpat Rai 1. Gadar Party
B. Bal Gangadhar Tilak
C. Bipin Chandra Pal

D. Lala Hardayal

2. Memoirs of the Life and Times
3. Geeta Rahasya

4.Simon Commission
Choose the correct answer:

(1) A-4; B-1; C-2; D-3
(2) A-3; B-2; C-4; D-1
(3) A-4; B-3; C-2; D-1
(4) A-1; B-3; C-2; D-4
808 HHOH 508 H020HH SetiEerRedd BEHSS0s:

s ren sotEeneen

5
A. eere 235 00D 1. t9¢56 %0 ,_,
B. 27e@) tfore¢shb &e8 2. hreonb) 8h & 35 ©ok B
C. 28 S0t S 3. fiezo K

£p80§PS 4. 0508 SRS

D. eyeer 3ol .
583 0570750 HOE0G:

(2) A-3; B-2; C-4; D-1
(4) A-1;B-3; C-2; D-4

(1) A-4; B-1; C-2; D-3

(3) A-4; B-3; C-2; D1 [PT.0 39
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{
Mahatma Gandhi attended which of the following Round Table Conferences at Lon oy
(1) First and Second Round Table Conferences
(2) Oniy Second Round Table Conference
(3) Second ang Third Round Table Conferences
(4) Only Third Round Table Conference
BSOS 005Seb s 308 & GP0k Gene HERITOD? FGARE)>
(1) ahoeSe3, Goesss 3208 eSene HairpSdsen
(2) 85010 Botss F0E Gend SiimSdsn

(3) BOLish, d5recsss GROE E5enes Hepddsnen

- (4) 8500 15065 3208 2065 HseSEsn

Which of the following officers of the Indian National Army (INA) or Azad Hind Fauj were

subjected to trial by court martial by the British government in 1945-46 at the Req Fort,
Delhi?

A. Shah Nawaz Khan

B. Subhas Chandra Bose
C. Gurdayal Singh Dhillon
D. Prem Sehgal

Select the correct answer:
(1) A,B&Conly (2B,c&D only

| 4)A,B&D only
1945-4665 (&) 8 QYSISS Y35 DEHE0 $56 S5 0° 0B3008 A5 @b, (INA
e @enb a0l e & o0 & S0d 0 Wiy

SO 215t Deifeats thiatmd?
A. ao RaJeeS gRM

B. X0g7R& 5045 259R)
C. thgasreed Aoh Herd
D. D& AT
0N 23aT20A) J0tERaw:
(1) A, B & C 500830
: C & D
(3) A C &D SF e

(3)A,C&Donly



<
8 &

g1, Rabindranath Tagore renounced his “Knighthood" as a reaction to:
(1) Partition of Bengal

(2) Jalianwala Bagh Massacre

(3) Chauri-Chaura Violence

(4) Hanging of Bhagat Singh, Sukdev Thapar and Shivaram Rajguru
83 800 S BAS DKM B0l ernoE i “Be5 G ¥ BI0eTE?
(1) Borme Defess
(21 e aharern epf Setaseod
~ (3) 3°6-F°0e AR0K

(4) &fti®@ Doh, K08 B b, 3Te0 Tes ththe 0B .

92. Who among the following were associated with the founding of the Hindustan Socialist
Republican Association (HSRA)? |

A. Bhagat Singh | B. Khudiram Bose
C.' Chandrashekhar Azad D. Subhas Chandra Bose

Select the correct answer:

. (M A B&Conly (2) B&D only (3) D only’ . (4) A& Conly
& 800ade® 2R06TRYeN 'faﬁ‘o’lé'lcjli 0HDER 6, (HSRA) FoRINE H020HODN W
QF? : o i
A. 25t5& doh - i B. §0QT?0 239R)
CSosdmbemd | Diogeadod e
9% eseeni) QOISR
MAB&CSPED (2) B &D Spdsab
{é}néaa@aa © (4) A& C &0egad

93, What title was bestowed to Dupleix, the French Governor by Muzaffar Jung?

(1) Hasmat Jung (2) Raisul Momin
(3) Nawaz Jung (4) Jaffar Jung
308 56,6 GRS Sne:nb eoh @ HHEh ANEF?

(1) 50,8 es0h ' (2) B0 PR
(3) #a0eS 2300 . (@) b esob

[P.T.0 a
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The Samsthanarndar who played a crucial role in suppressing the 1857 Revoit in HVdErahaq
State?

(1) Kollapur (2) wanaparthy

(3) Amarchinta

(4) Gadwal
2°t50eeRE  UTeex0e® 1857 &HiDherenid woadansos? Sof E DBoay
ﬁo@am@.é@:
(1) §°e5e53726 (2) H55358
(3) ©HBEDoee (4) 5TRS
95. The Comrades Association in Hyderabad was established in the year:
(1) 1934 (2) 1936 (3) 1939 (4) 1942
3705002705658 Seah &, ©RDBRADIS F2HOBIER Hode5T0:
(1) 1934 . (2) 1936 (3).1939 (4) 1942

96. Match the following books with their authors:

Book Author

A. Mughalai Kathalu 1. Suravaram Pratapa Reddy
B. Pasidi Bomma 2. Nandagiri Venkat Rao

C. Bombai Nanilu/kathalu 3. Amballa Janardhan

4. Nelluri Keshavaswamy
Choose thé correct answer:

(1) A-4; B-1; C-3 (2) A-3; B-4; C-2 (3) A-1;B-4; C-3

(4) A-2; B-1; C-3
806 DHPsew o8 FSande S H58T5e),08

HHTo SSowes
A. dutfereow S¢en 1. EST0 H&=s 33

B. SR 25°8, 2. 806508 S5 tass)

C. £5°025R0n Arden/Sgen 3. ©oVY, BARYS
4.3e1708 é’a’é@"’.s& _
20® PDETERRHO0 D0HS%0a:

(1) A-4; B-1;, C-3 (2) A-3; B-4; C-2

B At8-4c3 (4) A-2; B-T;C-3
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&

Which of the £ : .
Ollowing Organised ‘Go to the Village’ campaign in Telangana In apee

lon (Rsy)
(4) Viplava Rachayitala Sangam (VIRASAM)
i%ifaﬁ@ 19?855 BOOMREI M oy ¢ TS/ Mo B0 HieTed), AYER0D0

(1) CAREEE YREO, AhrYans (DSU)

(2) 33D GAryess NGO, 0hRRNDHS (PDSU)
(3) TRCES JRBoe§, ahnaans (RSU)
(4) DY BeSanse Kogno (850)

Name the member of Andhra Pradesh Legislative Assembly who resigned when Speaker
Yanamala Ramakrishnudu Opposed using of the word

‘Telangana' in the Assembly?
(1) T. Harish Rao

'(2) Ponnam Prabhakar |

(3) Pranay Bhaskar (4) Kasipeta Lingaiah

B0y DUB BN eI Boome HiS0 G5P0NHIR Jen S5 256 ahse
Uaa‘.';g]@tﬁa ©20e50 HEo B0Hm, AAA Haeen &
Te25resiIe TInm) oRR) RANED) QN? -
(1) e3 5708 TosY) (2) b0 BoesB
(3) Heaod gm0 (4) SR8 dortfahy

o &S S Kep D

Which of the following Nizams proclaimed that “nothing will afford me greater pleasure
ic

han to see the Hyderabad people living in peace and prosperity, engaged in developmem
than to

alth, in the acquisition of knowledge, and in the cultivation of sciences

H')
of the sources of we _

4-Daula (2) Nasir-ud-Daula
(1) Afzal-ud-Da

(4) Osman Ali Khan
(3) Mahabub Ali Khan

5 806 &708° & N0

w2gzend Heen 308, JahK)E Bdoso, RODE, $:5the
0005565089, o) BBgPRARR) DTRG0 9%y

a0 Q50 -
Sl
(9@55&@65’ %'33;60 ; 7o, 950650 DO QNG O DE30weeH? .
mto S0t 7 (2) $86-66-Fe
(1) @@6-6&5-5?’;:35 | (8) 69,0 @O gRd
v lC)
(3) 63870810

[PT.O 43



e

100,

101.

102.

103.

104.

105.

Who among the following were the members of the pranab Mukherji Committee>

() Sharad pawar g Gulam Nabhi Azad

(2) Shivraj patjj & S.M. Krishana

(3) Shibu Soren & Babulal Marandi

(4) Dayanidhi Maran & Raghuvamsh Prasad Singh

53 808 865 05t geae§ s sSSP Heheom S0ETD?
() BE& Db, theross) wend

(2) BsHTeeS &e3e5, 0%, 0. ga

(3) Ben W3R, erenernd SHoeod

(4) C50fRAQ HRYS, G0 Hb Hoh

Which of the following is the correctly spelt word?

(1) entreprener (2) antrepreneur
(3) entrepreneur (4) entreprenuer

Which of the following is grammatically correct sentence?

£1) We have been hearing loud sounds of drum-beating since morning.

(2) My friends have undertaken a project on the present voting system a few days ago. 4
(3) Nithin was usually spending his free time in the park.

(4) My brother and | are the owners of this property.

Which of the following is the antonym of celut_:acy'?
(1) marriage ' (2) celebration

(3) ritual (4) sainth'ood ;

Which of the following is the synonym of ‘adrojt'>

(1) frugal (2) skilfy
(3) doubtful (4) dreadfy

Which of the following is the correct meaning gf TeSurrection’
. ; on’

(1) revival (2) deDarture

(3) remedys @) difficylty



E

106.

107.

108.

109.

10,

ich :
Which one of the followmg words jg correctly sp'eit?

(1) necessarry

(3) idial (2) maintenance -
remidia

(4.,) commitee

Which one of t i
he following Sentences has the correct punctuation marks?

1) | don't kno :
( W Why they are Protesting against the policies of the Government.
(2) We are not sure when the elections will be conducted?

(3) How pleasant the weather is?

(4) It is said that ‘Rural Life is better than Urban life!

Which of the following has the correct punctuation marks?
(1) What an interesting twist the story has?
(2) He asked “which is the most poisonous snake.”

(3) What a beautiful insect it is!

(4) The Doctor asked a patient "Are you a non-vegetarian”?

Which one of the following sentences has the correct punctuation marks?
(1) “Divith said;" | like Abdul kalam’s speeches.
(2) Divith said: | like Abdul Kalam'.s speeches.
(3) Divith said; ‘I like Abdul Kalam's speeches.

(4) Divith said, “I like Abdul Kalam’s speeches.”

Consider the following statements:
(1) Either Rahul or Neha is likely to win in the final competition.

(2) Neither Kranthi Kumar nor his brother are interested in cricket.

(3) One of them are very adamant in their behaviour.

(4) One of her friends has made arrangements for the meeting.
n

statements are grammatically correct?

Which of the above

i (2)2and 4
an

s (4)3and 4
(3)1an

[P.T.O
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Consider the following statements:

Word Meaning
a. atheist 1. study of stars
b. astronomy 2. one who does not_in_ji_ﬁl{‘?.-iﬂ»GOd

ankind

¢. demography 3, study of evolution of m

d. anthropology 4. one who looks at the dark side of life

e. pessimist 5. study of statistics

Choose the option in which given pairs are correctly matched:

(1) a-5, b-2, c-3, d-4, e-1
(2) a-2, b-1, -5, d-3,e-4
(3) a-2, b-1, c-4, d-5, e-3
(4) a-5, b-1, c-3, d-4, e-2

Arrange the following sentences in a logical order:

a. It was discovered that many customers have tried the shampoo and liked it too.

8

b. A survey was conducted among different categories of customers in four major cities of

our country.
c. It is available in 1000 ml. 750 ml, 500 ml, and 200 ml bottles.

d. Suraksha Shampoo was launched in four sizes,
Mcbad . por 2 bacd
(3)d,c,ba @adcb

Consider the following pairs.

Word "Meaning

a. panacea 1. important

b. bankrupt . 2. remedy for all ills or difficulties
c.sallent.’ 3. capable of being controljeq

d. malieable 4. reduced to a state of financial ruin

Choose the option in which the given pairs are cor
: re
(1) a-2, b-4, ¢-1,d-3 -orrectly matched

(2) a-3 p.
(3) a-4, b-1,¢c-2,d-3 </ a-3, b, c-4, d-2

(4) 3-3, b_,2, C—‘L d-a
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ja. Consider the following pajrs.
Word

Meaning
‘a.amicable 1. cowardice
b. alienﬁate 2. enough
c. adequate 3.isolate
d. witv 4. friendly
5. hostile

Choose the option in which the given pairs are correctly matched.
41)a-3,b-2,c-4,d-5 | (2) a-4, b-3, c-2, d-1
(3) a-2. b-4, c-5, d-3 (4) a-3, b-1,c-4, d-2
15.  Which of the following is a correct plural form?

(1) brother-in-laws (2) man-servants
(3) womens (4) geese

116. Arrange the followmg sentences in a logical order:

a. The stated response of most economists to such a sutuatlon |5 to ad\nse masswe retraining

of the workforce.

b. Computers are making inroads into our society whethér India is ready for them or not.

c. Each one of these has the 'p_otential to displace entire chunks of the workforce.

d. In addition to them are potential threats in the form of ofﬂce automatlon, artificial

intelligence machines, Factory automation, and 5o on.

e.Unless it is taken up, this technology is going to affect the unskilled wbckfc}'rc'e, especially.

(1) d,eb,ac - (@cadeb (3)b,dcae (8)a,ed,cb
117. Consider the following.

Word Meaning

a. accrue | 1. grecdy

b. shrink 2. warmth of feeling

c.avid 3. accumulate

d. ;r_d;nt 4. easily broken

e. fragile B contract

Choose the option in whnch words are correctlv matched With their meanmgs |
(1) a-3, b-5, c-1,d-2, e- 4 (2) a-2, b-1, ¢-5, d-4, e

(3) a-4, b-3, c-1, d-2, -5 (@) a-1,b-3,c-4,d-5, e-2

3 [PT.0
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Which one of the following is the antonym of the word ‘admonitio
4) fear
(1) warning (2) request (3) threat (4)

] Ly |
Which of the following is the synonym of the word ‘sabotage -

(1) create (2) hinder
(3) influence (4) follow
Consider the following.

Word Meaning

a. flutter 1. unbelievable

b. foster 2.to prombte the growth

c. incredible 3. to flap

d. appease 4, pacify _

Choose the option in which given words are correctly matched with their meanings.
(1) a-4, b-3, ¢-1,d-2 | - (2)a-3,b-4, c-1,d-2
(3) a-1, b-2, c-4, d-3 ¢ (4) a-3,b-2,c-1,d-4

Which one of the following sentences has the correct punctuation marks?

(1) Arun, says Vinay, “what is your opinion on. this proposal?”

(2) Bheeshma says, “Dinesh, is it necessary to remove this point from the draft?"
(3) “Murali asked his father” Can we solve this problem through some other way?

(4)"What an interesting coincidence it is?" said the guide.

Which one of the following sentences has the correct punctuation marks?
(1) The Doctor asked the patient, “Are you mentally prepared for the surgery?”
(2) Doctor asks, “How strang your body is?"

(3) “have you intentionally misled the client the lawyer questioned the culprit.

(4) “indians are known for their traditions and cultyre>" says he

Which one of the following words is correctly spe|t?

-(1) intensional

(2) commitee
(3) interogation

(4) personnel




B

2. which one of the foIIOWing Options K
a

. rds?
. s the correctly spelt pairs GEve
(1) corilation, idealogica |

(2) questionnaire, alternatiye
(3) incalcate, felicitetion

(4) athentic, agment

125. Consider the following Statements;

(1) He neither knows English nor Hindi
(2) Seeing the police the thief ran away and escaped.

(3) My friend, along with his sister, have been searching for the address since morning.

(4)If you pay attention to the instructions, you will be able to answer the questions with -
ease. :

Which of the statements are grammatically correct?

(M1and 3 (2)2and 4

(3)1and 4 | (4)3and 4

126. From where to where the “Rajoli Banda Paada Yatra” was organised in 2003?
(1) Gadwal to Mahabubnagar (2) Nagarkarnool to Wanaparthy
(3) Alampur to Gadwal (4) Wanaparthy to Gadwal
2003658 QAGEIR0S R “0e5P8) 2005 Jet5 AffRd” AFE 0 AFGES §eTeNok?
(1) ﬁmﬁée‘): 206 HSTeenseeddtid
(2) Jetib 5633:195 f00G IR0
(3) ©®0KRb Hod Koo
(4) 5558 S0é e

127. Who among the following was the Chairman of Congress Party's Telangana Legislators
Forum established in 1992? _
(1) K. Jana Reddy (2) V.. Jagapati Rao

(3) P. Janardhan Reddy (4) G. Chinna Reddy

1992655 S5m0 S 52008 300 Bwomes By, P FEAM &3 §ob ok gt
) - _

&06~t?

(1) 8. e 86

(3) . &3y O

2) . BHH® TS
(4) 2. Qe B

[PT.0 49
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Consider the following in relation to the 22 languages part of the Eighth Schedye o, b

Constitution of India:
A. Only 16 languages were nitially included in the Constitution

B. Sindhi language was added in 1967.

C. Konkani, Manipuri and Nepali weré included in 1992.

D. Bodo, Dogri, Maithili and Santhali weré added in 2004.
Choose the correct answer:

(A BC&D

(3)B,C&D onlyl

gRUeS TeaR0M0S8) DA AEROSR
$HBiedocsod:

A. Doe,010858 S¢St 16 gREIeD Sped Do

B. 206 g 19676 #58¢0eE00

C. §00%¢d, 568500, e 199260 Shgean - 5
D, £556% 59, OO, omed 20048 BGOSR -

(2) A&Conly

(4) B & D only
22 R 020608 & 800 oy

$0 esarend) 0ch§%0d:
(1)A,B,C&D (2) A& C &eg8ad
(3)B,C&D e (4) B & D &7¢iod

Read the following statements regarding education in India:
A. Education is part of the state list.
B. Provisions related to education can be found in Part Ill of the Constitution.
Select the correct statement(s): -
(1) A only (2) Bonly
(3) BothA&B (4) Neither A nor B
2755 B30 L5 cooaaoﬁ.'so:‘i) & 800 arged SeS50G:
A. ;0o 0308) e gRifo.
B. DS momo@orﬂ?ﬁ Q20ENON oeeR0tfoe) aas e mdétﬁb
or G A(@)R) ao:ﬁw@’éoé .
(1) A SRED QB SREd
{3JA&5506113 - (&}A&BEO@ 5 3
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130. Consider the following in relati
io

itution of
india: N to the Financial Emergency under the Conet

A. It can be proclaj ituti
Proclaimeq by the President of India under Article 360 of the Constitution.
B. Under this, i ;
all Money Bijs to be reserved for the consideration of the President after

they a
Y are passed by the Legislature of the state.
Select the correct statement(s}-

(1) A only (2) B only

3) Both

(3)BothA & B (4) Neither A nor B

W0 DRaROt0 S5etio @S oSS 5688 HowoH0d & Sob FEA HOMHEH0S0E: €
A. U‘aesaéoﬁoéﬂf{l. 05 360 H5e50 gRES D@ BAR HE¥losssy. ~

B. &R &sedo, 0o BR8] @ARB0DN ST ©), 655, Deven DDA HB B B2:b;

Laheyseeon. '
RA0R a3R@I(0)R0 DOtHEIOE: |
(1) A &7eg8a (2) B Sogidy
(3) A& B Gotire | (4) A & B B0 So8)

131, The Article 19 of the Constitution of India provides all citizens to have following rights, but

one of the following is NOT a part of it?

(1) to freedom of speech and expression

(2) to assemble peacefully and without arms

(3) to move freely throughout the territory of India

(4) equality of opportunity in matters of public employment ‘

270 (3¢ ToezR,0ti0R @BES 19 D06 & 00 DL 5908, vowd & §oa

Tot3eP 2,563 R0 gtio s§cﬁa?
AT e oLz

(1) 305 A0S0,
een BK0we NSRS ENHE0

(2) BeOBONEB0T, Clexsy
(3) 2355033 afyoep!10 ©odbET RS Yo

(8) Hapes, B30 5070 @ 951 VisaTe)

ay

[PT.0 51
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Justice G. Rohin; Commission is related to the:

(1) SUb-categorisation of Other Backward Classes (OBCs)

(2) Sub-categorisation of Scheduled Castes (SCs)

(3) Women reservations in the Central Government Jobs

(4) Women reservations in the Central Government Educational Institutions
BYR 22 5%med KRS B3 H0@0HOIIB:

(1) 288 Jx0%e1d% Sttishe (0BC) &3-5050¢

(2) i Here) (sce) &0-5050ea

(3) S0 Hehes &0y ipye Be:dHd

(4) So¢s Hanes; S R0PEH? &HaRwe B0

Read the following statementsin relation tothe Second Administrative Reforms Commission;
A.In order to eradicate the major source of political corruption, there is a compelling case
for state funding of elections.
B. A system for partial state funding for elections should be introduced.
C. A system for full state funding for elections should be introduced,
Select the correct statement(s):
(1) A only
(2) A& B only
(3) A&Conly
(4) Neither A nor B nor C
G0t D0 HoK,BEee EDHSH 3 moajo@oa 806 arme S50a,
A ozdoh 08  Hues Seerg), @Ot‘-ﬁc:aa’Jé NgoH wy e
R ERE),S%a78), 0SHd0 eiémﬁn]ana 60@
B. AR, S0 o8 Doey Athen R&VERG, 2,5 Aapg 035&533&139'3
C ORS00 Jrg geand? oy Ahey NG, VR, 58 608,
N3 @) (©)M J0ch880d:
(1) A S0¢5
(2) A & B &3¢5aD
(3) A & C &3p¢sad

(4]A,B&C5ﬁlﬁﬁ)53m
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135.

Who is the chairman of the NIT| Aayog?
(1) President

(2) Minister of Finance

(3) Prime Minister

(4) Minister of Planning and Development
A8 ©ABRH 53_6&5 Ah?

(1) m@é@

@) (s§§ 300 -

(3) DGR oG

(4) DeRPs?, VLA HOY

Consider the following in relation to the administrative setup of the Special Economic Zones
(SEZs) in India: :

A.The Board of Approval is the apex body. It is headed by the Secretary, Department of
Commerce, Government of India. ;

B. Each Zone is headed by a Joint Secretary, Department of Commerce, Govt. of India who
is ex-officio Chairperson of the Appro\}al Committee.

C. The Approval Committee at the Zone level deals with the approval of units in the SEZ.

Choose the correct answer:

(WA B&C . (2) A &B only

(3) A&C only : (4) B & Conly

2T5E360887 HABE ©0¥ a’nocﬁ%ﬁ, (SEZew) H0aRewe 20NH H020H0) &3 §080 03

2)Btfedoiots:

A 2556 05 0PRSS 036 0 wd. B VRHAM eRIE Sebe soedey @oa) VWO
sotRt |

B. 5 95 pon0tS RE0B, aoedey T, gREE HAHE0, AEHO H3ARJoth. OHPRHS
e 25 0hcie FEBHYRM &0eR.

C. £585 oo e SR VEH ARG ©AROOS ©OTOR SPK0E,

035 2539205 DOLHEHRDE: \(8)
M)A B&C (2) A & B &00¢550 i)
(3) A & C &5e8ad (4) B & C $70¢560

[PT.0 53
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Which one of the following is NOT correct with regard to the population policy qf Indiyy
1 - world to launch a nationg|
() In 1952, india was the first country in the prﬂgrammr
€Mphasizing family planning. ‘
(2) The National Health Policy, 1983 stated the replacement levels of total fertijit, fate
(3) The immediate objective of the National Population Policy (NPP) 2000 is tq A,
needs for contraception, healthcare infrastructure, and health personnel,

(4) The long-term objective of the NPP-2000 is to achieve a stable population by 205,

eRUSES ezr0gm meand K020008) §06 0 1B HJHE S2EH?

(11952658 enoe Aapogesd JPeSBAIYe we8ah SYKER Jiogoy s
VNS08 Fesel Bdo gRISB 0.

(2) 880D @O, e, 1983 Aeo HomnDes,d Bt BB FooweiD vy

(3) eR&a) esregIe G0 (NPP) 2000 R0N AR, 65D mgéo ﬁq]mﬁﬁqiéo, @08 Koty
SPOE Heheafeen, @bt 22),00 ©SHTEN S E0.

(4) NPP-2000 85085 0 0 2050 o¢38 YBFS esogrord) oS0,

‘Incredible India’ is the tagline of the following:

(1) Ministry of Culture, Govt. of India (2) Ministry of Tourism, Govt. of India

(3) The Archaeological Survey of India (4) Min'is.tryr of Aayush, Govt. of India

'2RZGNS ROGOTR' OO 800 TR eJaéﬁQS;
(1) 201, B 008 Bog), grties QehE0 (2) DTREE DO o, gredes Haheso
() e0pipoRsd R eh aotale () wafuf S08e; mee, e a8

As per the NITI Aayog’s ‘Social Inclusion Report - 2027, social inclusion involves the improving
of disadvantaged sections of society in terms of the following aspects:

A. Ability B. Dignity

C. Subversiveness

D. Opportunities
Select the correct answer:

(1)-A, B & C only (2) C&D only (3)A,8,&D oni (4)A, B, C&D

' g 1 8, Y 1 By
8 6w Do SNYS IIAK. 20, 95200 simesy HAPS w36 & 800
©0@eR) )F0ME, 1631023069 JnLaA S ajoa@\ﬂ ER )

| 0 DtHirhH :
A. D0 B. 0650 Srbstiso
*s C. A0
0 23572075 )0HERHED:
(1) AB&CERED  (2) C&D Sogsd,

D. ®)sem0e)

BIAB,&DsRESH (44,8, C8D
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ategories of offences had been inserted in the Scheduled

and Scheduled Tribes (Prevention of Atrocities) Amendment Act, 20152
A. A refusal to deal with work for hire

which of the following new c
Castes

B. To deny the opportunities or accesses to services
C. To abstain from professional or business relations

D. A refusal to listen what one is saying or singing

E. To abstain from social relations that one would maintain with another person
Select the correct answer:

(1) A, B &C only
(3) B, D & E only

(2) A, B,C&Eonly
(4) A,D &E only

Qg Henen, ARG Btfe (O@e@s ABREY) K5t 560, 201565 83 806 B8,
59¢§ Joeen ctf eaean?

A. 800008 HAR FHYERAS BEX,B0:5650
B. NSO 0HS0K) BEK,0085650

C. 5 HBH e ap@nts ROOGRV) (8o 60500

D. &.8th 3a),0 Swe NGO DL ATEBOSEO

E. 552 536 QR0 Aoimess Kowomee $od o ebotf.e)o
RO 2a70e0R) D0 R

(1) A, B & C sgdad (2) A, B, C & E S50¢85D

(3) B, D & E &7ogfad) &4)A,D&E533@3)

As per the NITI Aayog's ‘Social Inclusion Report - 2027, which one of the following states
has made substantial progress in achieving improved health outcomes and has lower
inequalities in healthcare across social groups compared to other states?

(1) Bihar (2) Uttar Pradesh

(3) Kerala (4) Telangana

A8 ©aiRh et HPH AJOE-2021 Hsedo, &3 00 TogROS? OB Sths @8,
Dderen Feosos? ﬁsaf{lcﬁ) BB GO, asYy oaaae}efa‘f? D38 r‘[’!aa’naggé

QRT3 roodgeae‘iﬁ 65,5 @RSRHSOR $OR.&00? E A

(1) Q556 (2) 688 HBB T
38y " (4) BLOTRE
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Disabilitv?

141, Wh
at are the functions of Central Advisory Board on
programmes; legislation and

A. Advi 2
Advise the Central and the state governments on policies,

projects with respect to disability
s and implement them

B. To make policies, legislation on persons with disabilitie

with disabilities with the authorities concerned and the

C. Take up the cause of persons

international organisations
mmodation, non-discrimination

D. Recommend steps toensure accessibility, reasonableacco

for persons with disabilities
mmes relating to the persons

E. Monitor and evaluate the impact of laws, policies and progra

- with disabilities
Select the correct answer:

(1) A, B, D & E only
(2) A &Bonly ;
(3) A, C, D &Eonly - : (e
(4) B, C, D &E only
E0¢5 HBerothv K556 699 AHBNEI?

020508 e, StSsRe, SEpe), PEPOD So¢s Do) SEHEO

A. B8RS D

S5 aeo _
08 5020H0S BSEeen, )
) 502000V 0B K006 ©HSY KoY,

ALEOY Snap0809) a3 wen a0 =

B. Q&er0oth
eoéﬁgaé’do:ﬁ HON®

c. ger0thO
5,38 BRowFBE0. -
. PEO0 &) S H0 DHEY BW0wR FeoeRg), GEREERR SHehen SeorfEadERRS
Ydnen B0HE0
E. 9700t HO roozao@c:z‘ﬂfé cegeen, ArprRey, SeUERe IR, e kE{efale{e)
57072,0800 30050

-
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what are the objectives of UJjawALA scheme?

vent trafficki :
A.To pre afficking of women ang children for commercial sexual exploitation

ilitate r icti
B.To facl; escue of victims from the place of their exploitation and place them in safe
custody

C. To provide rehabilitation services, both immediate and loﬁg—term to the victims
D. To facilitate reintegration of the victims into the family and society at large

E. To facilitate resettlement of cross-border victims in destination country
Select the correct answer:

(1) A, B, C&D only

(3) C&E only

6203085 (UJJAWALA) 550 egpen Hed?
A. ane3esHt BoNE 506 8550 MHieden, Hew oY Save IF00SE0
B. 2@ 5708 898 Y210 K508 B0 e0R MEFSZN PBE0S G050 -
C. ep{ev B, HYSOE HHoeaen HVI WoHSEo

D. 2RI K)En0o0, HogH0E? 5HH,0anso dabio-

E. 0055965 woeds erpf)ehns doSeN G060 HHriveantio 8,050

R0 2357920R) D0HERDEM: |

(2) A,B&D only
(4)A,B,C,D&E

(A, B, C&D dvoghah “12) A, B & D S50¢8a

(3) C & E s0gbad (4)A,B,C,D&E

Which of the following states and union territories top in percentage of anaemic children in
the age group of 06 to 59 months as per the National Family and Health Survey-5?

(1) Gujarat and Ladakh, respectively

(2) Bihar and Andaman & Nicobar Islands, respectively

(3) Uttar Pradesh & Lakshadweep Islands, respectively

(4) Chhattisgarh & Dadra & Nagar Haveli, respectively

2R ah HEnow, ©H; N5 S0 06 H0G 59 30 S0DHKGP &) 8 RIS to Hee
B0 & §0O o3 & 02310, S0l O Feodo W o506 &572,00?
(1) SR tHesoed, ot

(2) StHdre 2556, ©otsareN-8%50 Haphen

(3) SN &6 HBG, OF Bhen

(4) StHidme S8 b, wege-Tetid a6
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Which of the following rivers was described as Telivahana in Buddhist literature?

(1) Krishna (2) Godavari (3) Maneru (4) Musi
&P B0 @O HOTWES BO DE? g
0 &ge (2) PRS0 (3) &P (8 b

What was the Khilat practice under the Qutb Shahis?

(1) Judicial practice (2) Robe of honour

(3) Sword of honour (4) Garlanding

S Ao oBsd Pernd HoHHOH0 ©0E3 HENEF?
(1) AREHR020EIRN @ed0 (2) Y5 KeedE chraien
(3) TES S0 ' (4) S 5065 B0HE0

The term ‘Putakutillu’ refers to which.of the following during the Kakativas?

(1) Outcaste settlements (2) Cultivators’ settlements

(3) Feeding/Resting Houses (4) Prostitutes’ houses

ey’ ) HE50 seE@ame 5e00658 §06 8368 BN MIPARLOG?
(1) 23875, S:5500 3,06 (2) Dothethe 1E3S,060
(3) £39e355/D B0 ifjsToen/efSmeen (4) SE® tf)558e0

Which of the following tribe celebrates Seetala/Sheetal festival?

(1) Chenchus _ (2) Lambadis

(3) Nayakpods (4) Konda Reddis
808 57083658 Be50)/Be58) HoHH DHHI S HH?

(1) 3ohen ‘ (2) ®oerEen

(3) DeoHEYEen (45065 8%

Which of the following is the first Ramayana in Telugu?

(1) Bhaskara Ramayanam '
(2) Ranganadha Ramayanam

(3) Molla Ramayanam (4) Abirama Raghavam
0t a10¢3e5® BenthHe® nised mekinaneao aaH

(1) 8705, Tec7e0DEI0
(3) 3@ TesieoHEa0

(2) otics vagimaneao
(4) (9@03553 Daa’néo
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149. Who was the first Martyr of Telangana peasants Armed Struggle?

(1) Miskin Ali
(2) Shaik Bandagi

| (4) Doddi Komaraiah
@003 §&e0(] AJraE 5T 398) WHHEH D&H?

(3) Chityala Ailamma

9
() RS 09 (2) 216 20250
(3) t'D?JaéPJ m%ﬁaé (4) 53@ @mdoﬁé |

150. The Girijana warriors Sammakka-Saralamma fought against which of the following Kakatiya
ruler?
(1) Rudradeva/Pratapa Rudra - | (2) Ganapathi Deva
(3) Rudrama Devi ' _ (4) Mahadeva .
ABEsS Gt KiE- ooy, O seEeah P0G HB650mR Dsvet?
(1), B 565 /A0 653 Hesesd HEHED (2) e ® Ba)Es
(3) g B (4) EEHEDED {W/A
15) I



